under CBCS Annual Pattern Examination held in April-2020

Seat Number: 906352 Center: 1000 PRN: 2019015400380952 College: Sadguru Education Societys College of Physical Education, Jalgaon (100008)

Name: AIREKAR RAKESH NAMDEV (NIRMALA)

Sub Code	Subject Name		INT	EXT	Total	Out Of	CR	GR	GP	TGP
M.P.Ed. Part-	Ĭ							•		
#901101	MPPE-101 Sports Psychology	P	13	52	65	100	4.00	A	8.00	32.00
#901102	MPPE-102 Theory of Sports and Games	P	15	60	75	100	4.00	A+	9.00	36.00
#901103	MPPE-103 Research and Statistics in Physical Education	P	16	64	80	100	4.00	О	10.00	40.00
#901104	MPPE-104 Educational Technology and Methods of Teaching in Physical Education	P	16	64	80	100	4.00	О	10.00	40.00
#901105	MCPS-101 Information and Communication Technology (ICT) in Physical Education	P	15	60	75	100	4.00	A+	9.00	36.00
#901107	MCPS-103 Physical Fitness and Wellness	P	15	60	75	100	4.00	A+	9.00	36.00
#901109	MEPC-101 Preparation of Research Proposal	P	44		44	50	2.00	0	10.00	20.00
#901110	MEPC-102 10 Officiating Lesson Plans	P	45		45	50	2.00	0	10.00	20.00
#901111	MFBA-101 Mass Demonstration Activities	P	33	50	83	100	4.00	0	10.00	40.00
#901112	MFBA-102 Game and Sports Specialization	P	36	54	90	100	4.00	0	10.00	40.00
#901113	MFBA-103 Yoga and Gymnastics/Aerobics	P	35	53	88	100	4.00	0	10.00	40.00
#901114	MFBA-104 Classroom Teaching Lesson Plan for Theory of Sports and Games	P	44	44	88	100	4.00	О	10.00	40.00

SGPA: M.P.Ed. Part-I: 9.55

CGPA: 9.55(888/1100)(80.73%) Result: Pass

under CBCS Annual Pattern Examination held in April-2020

Seat Number: 906371 Center: 1000 PRN: 2019015400380905 College: Sadguru Education Societys College of Physical Education, Jalgaon (100008)

Name: METKARI VARSHA DNYANU (PARUBAI)

Sub Code	Subject Name		INT	EXT	Total	Out Of	CR	GR	GP	TGP
M.P.Ed. Part-										
#901101	MPPE-101 Sports Psychology	P	14	56	70	100	4.00	A+	9.00	36.00
#901102	MPPE-102 Theory of Sports and Games	P	14	56	70	100	4.00	A+	9.00	36.00
#901103	MPPE-103 Research and Statistics in Physical Education	P	15	60	75	100	4.00	A+	9.00	36.00
#901104	MPPE-104 Educational Technology and Methods of Teaching in Physical Education	P	13	52	65	100	4.00	A	8.00	32.00
#901105	MCPS-101 Information and Communication Technology (ICT) in Physical Education	P	16	64	80	100	4.00	О	10.00	40.00
#901107	MCPS-103 Physical Fitness and Wellness	P	16	64	80	100	4.00	О	10.00	40.00
#901109	MEPC-101 Preparation of Research Proposal	P	45		45	50	2.00	О	10.00	20.00
#901110	MEPC-102 10 Officiating Lesson Plans	P	45		45	50	2.00	О	10.00	20.00
#901111	MFBA-101 Mass Demonstration Activities	P	34	51	85	100	4.00	0	10.00	40.00
#901112	MFBA-102 Game and Sports Specialization	P	34	51	85	100	4.00	О	10.00	40.00
#901113	MFBA-103 Yoga and Gymnastics/Aerobics	P	34	51	85	100	4.00	О	10.00	40.00
#901114	MFBA-104 Classroom Teaching Lesson Plan for Theory of Sports and Games	P	43	43	86	100	4.00	О	10.00	40.00

SGPA: M.P.Ed. Part-I: 9.55

CGPA: 9.55(871/1100)(79.18%) Result: Pass

under CBCS Annual Pattern Examination held in April-2020

Seat Number: 906372 Center: 1000 PRN: 2019015400380936 College: Sadguru Education Societys College of Physical Education, Jalgaon (100008)

Name: MIRZA ASIF IQBAL (SHAMIMBI)

Sub Code	Subject Name		INT	EXT	Total	Out Of	CR	GR	GP	TGP
M.P.Ed. Part-	Ĭ							•		
#901101	MPPE-101 Sports Psychology	P	12	48	60	100	4.00	A	8.00	32.00
#901102	MPPE-102 Theory of Sports and Games	P	13	52	65	100	4.00	A	8.00	32.00
#901103	MPPE-103 Research and Statistics in Physical Education	P	14	56	70	100	4.00	A+	9.00	36.00
#901104	MPPE-104 Educational Technology and Methods of Teaching in Physical Education	P	14	56	70	100	4.00	A+	9.00	36.00
#901106	MCPS-102 Sports Management	P	15	60	75	100	4.00	A+	9.00	36.00
#901107	MCPS-103 Physical Fitness and Wellness	P	14	56	70	100	4.00	A+	9.00	36.00
#901109	MEPC-101 Preparation of Research Proposal	P	42		42	50	2.00	0	10.00	20.00
#901110	MEPC-102 10 Officiating Lesson Plans	P	42		42	50	2.00	0	10.00	20.00
#901111	MFBA-101 Mass Demonstration Activities	P	32	48	80	100	4.00	0	10.00	40.00
#901112	MFBA-102 Game and Sports Specialization	P	33	50	83	100	4.00	0	10.00	40.00
#901113	MFBA-103 Yoga and Gymnastics/Aerobics	P	34	51	85	100	4.00	0	10.00	40.00
#901114	MFBA-104 Classroom Teaching Lesson Plan for Theory of Sports and Games	P	42	42	84	100	4.00	О	10.00	40.00

SGPA: M.P.Ed. Part-I: 9.27

CGPA: 9.27(826/1100)(75.09%) Result: Pass

under CBCS Annual Pattern Examination held in April-2020

Seat Number: 906373 Center: 1000 PRN: 2019015400380871 College: Sadguru Education Societys College of Physical Education, Jalgaon (100008)

Name: MUTHUVEL P (KRISHNAMMAL)

Sub Code	Subject Name		INT	EXT	Total	Out Of	CR	GR	GP	TGP
M.P.Ed. Part-	ĺ									
#901101	MPPE-101 Sports Psychology	P	16	64	80	100	4.00	О	10.00	40.00
#901102	MPPE-102 Theory of Sports and Games	P	14	56	70	100	4.00	A+	9.00	36.00
#901103	MPPE-103 Research and Statistics in Physical Education	P	16	64	80	100	4.00	О	10.00	40.00
#901104	MPPE-104 Educational Technology and Methods of Teaching in Physical Education	P	15	60	75	100	4.00	A+	9.00	36.00
#901106	MCPS-102 Sports Management	P	16	64	80	100	4.00	0	10.00	40.00
#901107	MCPS-103 Physical Fitness and Wellness	P	16	64	80	100	4.00	0	10.00	40.00
#901109	MEPC-101 Preparation of Research Proposal	P	44		44	50	2.00	0	10.00	20.00
#901110	MEPC-102 10 Officiating Lesson Plans	P	44		44	50	2.00	0	10.00	20.00
#901111	MFBA-101 Mass Demonstration Activities	P	35	53	88	100	4.00	0	10.00	40.00
#901112	MFBA-102 Game and Sports Specialization	P	35	53	88	100	4.00	0	10.00	40.00
#901113	MFBA-103 Yoga and Gymnastics/Aerobics	P	36	54	90	100	4.00	0	10.00	40.00
#901114	MFBA-104 Classroom Teaching Lesson Plan for Theory of Sports and Games	P	44	44	88	100	4.00	О	10.00	40.00

SGPA: M.P.Ed. Part-I: 9.82

CGPA: 9.82(907/1100)(82.45%) Result: Pass

under CBCS Annual Pattern Examination held in April-2020

Seat Number: 906375 Center: 1000 PRN: 2019015400380894 College: Sadguru Education Societys College of Physical Education, Jalgaon (100008)

Name: PADVI GONYA PARSHI (PUNIBAI)

Sub Code	Subject Name		INT	EXT	Total	Out Of	CR	GR	GP	TGP
M.P.Ed. Part-										
#901101	MPPE-101 Sports Psychology	P	12	48	60	100	4.00	Α	8.00	32.00
#901102	MPPE-102 Theory of Sports and Games	P	12	48	60	100	4.00	A	8.00	32.00
#901103	MPPE-103 Research and Statistics in Physical Education	P	14	56	70	100	4.00	A+	9.00	36.00
#901104	MPPE-104 Educational Technology and Methods of Teaching in Physical Education	P	13	52	65	100	4.00	A	8.00	32.00
#901105	MCPS-101 Information and Communication Technology (ICT) in Physical Education	P	13	52	65	100	4.00	A	8.00	32.00
#901107	MCPS-103 Physical Fitness and Wellness	P	15	60	75	100	4.00	A+	9.00	36.00
#901109	MEPC-101 Preparation of Research Proposal	P	42		42	50	2.00	0	10.00	20.00
#901110	MEPC-102 10 Officiating Lesson Plans	P	42		42	50	2.00	0	10.00	20.00
#901111	MFBA-101 Mass Demonstration Activities	P	32	48	80	100	4.00	0	10.00	40.00
#901112	MFBA-102 Game and Sports Specialization	P	34	51	85	100	4.00	0	10.00	40.00
#901113	MFBA-103 Yoga and Gymnastics/Aerobics	P	32	48	80	100	4.00	0	10.00	40.00
#901114	MFBA-104 Classroom Teaching Lesson Plan for Theory of Sports and Games	P	42	42	84	100	4.00	О	10.00	40.00

SGPA: M.P.Ed. Part-I: 9.09

CGPA: 9.09(808/1100)(73.45%) Result: Pass

under CBCS Annual Pattern Examination held in April-2020

Seat Number: 906379 Center: 1000 PRN: 2019015400380967 College: Sadguru Education Societys College of Physical Education, Jalgaon (100008)

Name: RAI SUNNY UDAYBHAN (PADMAVATI)

Sub Code	Subject Name		INT	EXT	Total	Out Of	CR	GR	GP	TGP
M.P.Ed. Part-	I									
#901101	MPPE-101 Sports Psychology	P	15	60	75	100	4.00	A+	9.00	36.00
#901102	MPPE-102 Theory of Sports and Games	P	16	64	80	100	4.00	0	10.00	40.00
#901103	MPPE-103 Research and Statistics in Physical Education	P	16	64	80	100	4.00	О	10.00	40.00
#901104	MPPE-104 Educational Technology and Methods of Teaching in Physical Education	P	15	60	75	100	4.00	A+	9.00	36.00
#901105	MCPS-101 Information and Communication Technology (ICT) in Physical Education	P	16	64	80	100	4.00	О	10.00	40.00
#901107	MCPS-103 Physical Fitness and Wellness	P	16	64	80	100	4.00	0	10.00	40.00
#901109	MEPC-101 Preparation of Research Proposal	P	45		45	50	2.00	0	10.00	20.00
#901110	MEPC-102 10 Officiating Lesson Plans	P	45		45	50	2.00	0	10.00	20.00
#901111	MFBA-101 Mass Demonstration Activities	P	36	54	90	100	4.00	0	10.00	40.00
#901112	MFBA-102 Game and Sports Specialization	P	35	53	88	100	4.00	0	10.00	40.00
#901113	MFBA-103 Yoga and Gymnastics/Aerobics	P	35	53	88	100	4.00	0	10.00	40.00
#901114	MFBA-104 Classroom Teaching Lesson Plan for Theory of Sports and Games	P	43	43	86	100	4.00	О	10.00	40.00

SGPA: M.P.Ed. Part-I: 9.82

CGPA: 9.82(912/1100)(82.91%) Result: Pass

under CBCS Annual Pattern Examination held in April-2020

Seat Number: 906381 Center: 1000 PRN: 2019015400380913 College: Sadguru Education Societys College of Physical Education, Jalgaon (100008)

Name: RAJPUT HEMRAJ ANANDSING (ANURADHABAI)

Sub Code	Subject Name		INT	EXT	Total	Out Of	CR	GR	GP	TGP
M.P.Ed. Part-	I									
#901101	MPPE-101 Sports Psychology	P	15	60	75	100	4.00	A+	9.00	36.00
#901102	MPPE-102 Theory of Sports and Games	P	13	52	65	100	4.00	A	8.00	32.00
#901103	MPPE-103 Research and Statistics in Physical Education	P	12	48	60	100	4.00	A	8.00	32.00
#901104	MPPE-104 Educational Technology and Methods of Teaching in Physical Education	P	14	56	70	100	4.00	A+	9.00	36.00
#901105	MCPS-101 Information and Communication Technology (ICT) in Physical Education	P	13	52	65	100	4.00	A	8.00	32.00
#901107	MCPS-103 Physical Fitness and Wellness	P	13	52	65	100	4.00	A	8.00	32.00
#901109	MEPC-101 Preparation of Research Proposal	P	42		42	50	2.00	0	10.00	20.00
#901110	MEPC-102 10 Officiating Lesson Plans	P	42		42	50	2.00	0	10.00	20.00
#901111	MFBA-101 Mass Demonstration Activities	P	32	48	80	100	4.00	0	10.00	40.00
#901112	MFBA-102 Game and Sports Specialization	P	32	48	80	100	4.00	0	10.00	40.00
#901113	MFBA-103 Yoga and Gymnastics/Aerobics	P	33	50	83	100	4.00	0	10.00	40.00
#901114	MFBA-104 Classroom Teaching Lesson Plan for Theory of Sports and Games	P	42	42	84	100	4.00	О	10.00	40.00

SGPA: M.P.Ed. Part-I: 9.09

CGPA: 9.09(811/1100)(73.73%) Result: Pass

under CBCS Annual Pattern Examination held in April-2020

Seat Number: 906383 Center: 1000 PRN: 2019015400380944 College: Sadguru Education Societys College of Physical Education, Jalgaon (100008)

Name: ROSHNI KUMARI D/O RAKESH KUMAR (NEELAM KUMARI)

Sub Code	Subject Name		INT	EXT	Total	Out Of	CR	GR	GP	TGP
M.P.Ed. Part-	I									
#901101	MPPE-101 Sports Psychology	P	16	64	80	100	4.00	0	10.00	40.00
#901102	MPPE-102 Theory of Sports and Games	P	15	60	75	100	4.00	A+	9.00	36.00
#901103	MPPE-103 Research and Statistics in Physical Education	P	16	64	80	100	4.00	О	10.00	40.00
#901104	MPPE-104 Educational Technology and Methods of Teaching in Physical Education	P	15	60	75	100	4.00	A+	9.00	36.00
#901105	MCPS-101 Information and Communication Technology (ICT) in Physical Education	P	15	60	75	100	4.00	A+	9.00	36.00
#901108	MCPS-104 Sports Journalism	P	16	64	80	100	4.00	0	10.00	40.00
#901109	MEPC-101 Preparation of Research Proposal	P	45		45	50	2.00	0	10.00	20.00
#901110	MEPC-102 10 Officiating Lesson Plans	P	44		44	50	2.00	0	10.00	20.00
#901111	MFBA-101 Mass Demonstration Activities	P	36	54	90	100	4.00	0	10.00	40.00
#901112	MFBA-102 Game and Sports Specialization	P	36	54	90	100	4.00	0	10.00	40.00
#901113	MFBA-103 Yoga and Gymnastics/Aerobics	P	36	54	90	100	4.00	0	10.00	40.00
#901114	MFBA-104 Classroom Teaching Lesson Plan for Theory of Sports and Games	P	45	45	90	100	4.00	О	10.00	40.00

SGPA: M.P.Ed. Part-I: 9.73

CGPA: 9.73(914/1100)(83.09%) Result: Pass

under CBCS Annual Pattern Examination held in April-2020

Seat Number: 906386 Center: 1000 PRN: 2019015400380921 College: Sadguru Education Societys College of Physical Education, Jalgaon (100008)

Name: SHINDE VITTHAL VINAYAK (AVIDHA)

Sub Code	Subject Name		INT	EXT	Total	Out Of	CR	GR	GP	TGP
M.P.Ed. Part-	I									
#901101	MPPE-101 Sports Psychology	P	15	60	75	100	4.00	A+	9.00	36.00
#901102	MPPE-102 Theory of Sports and Games	P	15	60	75	100	4.00	A+	9.00	36.00
#901103	MPPE-103 Research and Statistics in Physical Education	P	15	60	75	100	4.00	A+	9.00	36.00
#901104	MPPE-104 Educational Technology and Methods of Teaching in Physical Education	P	16	64	80	100	4.00	О	10.00	40.00
#901105	MCPS-101 Information and Communication Technology (ICT) in Physical Education	P	15	60	75	100	4.00	A+	9.00	36.00
#901107	MCPS-103 Physical Fitness and Wellness	P	14	56	70	100	4.00	A+	9.00	36.00
#901109	MEPC-101 Preparation of Research Proposal	P	44		44	50	2.00	0	10.00	20.00
#901110	MEPC-102 10 Officiating Lesson Plans	P	45		45	50	2.00	0	10.00	20.00
#901111	MFBA-101 Mass Demonstration Activities	P	34	51	85	100	4.00	0	10.00	40.00
#901112	MFBA-102 Game and Sports Specialization	P	35	53	88	100	4.00	0	10.00	40.00
#901113	MFBA-103 Yoga and Gymnastics/Aerobics	P	36	54	90	100	4.00	0	10.00	40.00
#901114	MFBA-104 Classroom Teaching Lesson Plan for Theory of Sports and Games	P	45	45	90	100	4.00	О	10.00	40.00

SGPA: M.P.Ed. Part-I: 9.55

CGPA: 9.55(892/1100)(81.09%) Result: Pass

under CBCS Annual Pattern Examination held in April-2020

Seat Number: 906387 Center: 1000 PRN: 2019015400380886 College: Sadguru Education Societys College of Physical Education, Jalgaon (100008)

Name: SONAWANE SARITA PRASHANT (SOLOCHANA)

Sub Code	Subject Name		INT	EXT	Total	Out Of	CR	GR	GP	TGP
M.P.Ed. Part-	ĺ									
#901101	MPPE-101 Sports Psychology	P	16	64	80	100	4.00	0	10.00	40.00
#901102	MPPE-102 Theory of Sports and Games	P	15	60	75	100	4.00	A+	9.00	36.00
#901103	MPPE-103 Research and Statistics in Physical Education	P	16	64	80	100	4.00	О	10.00	40.00
#901104	MPPE-104 Educational Technology and Methods of Teaching in Physical Education	P	15	60	75	100	4.00	A+	9.00	36.00
#901105	MCPS-101 Information and Communication Technology (ICT) in Physical Education	P	16	64	80	100	4.00	О	10.00	40.00
#901107	MCPS-103 Physical Fitness and Wellness	P	16	64	80	100	4.00	0	10.00	40.00
#901109	MEPC-101 Preparation of Research Proposal	P	45		45	50	2.00	0	10.00	20.00
#901110	MEPC-102 10 Officiating Lesson Plans	P	45		45	50	2.00	0	10.00	20.00
#901111	MFBA-101 Mass Demonstration Activities	P	36	54	90	100	4.00	0	10.00	40.00
#901112	MFBA-102 Game and Sports Specialization	P	36	54	90	100	4.00	0	10.00	40.00
#901113	MFBA-103 Yoga and Gymnastics/Aerobics	P	36	54	90	100	4.00	0	10.00	40.00
#901114	MFBA-104 Classroom Teaching Lesson Plan for Theory of Sports and Games	P	44	44	88	100	4.00	О	10.00	40.00

SGPA: M.P.Ed. Part-I: 9.82

CGPA: 9.82(918/1100)(83.45%) Result: Pass